Jeg kan regne subtraksjon 
 side 1
	A
	4 – 2 =
	P
	5 – 5 =

	B
	5 – 3 =
	Q
	8 – 8 =

	C
	6 – 3 =
	R
	10 – 8 =

	D
	3 – 2 =
	S
	10 – 2 =

	E
	9 – 2 =
	T
	10 – 1 =

	F
	10 – 6 =
	U
	7 – 4 =

	G
	10 – 3 =
	V
	6 – 5 =

	H
	5 – 4 =
	W
	9 – 6 =

	I
	8 – 1 =
	X
	8 – 3 =

	J
	9 – 4 =
	Y
	7 – 3 =

	K
	5 – 1 =
	Z
	5 – 2 =

	L
	6 – 2 =
	Æ
	10 – 9 =

	M
	7 – 5 =
	Ø
	8 – 7 =

	N
	9 – 1 =
	Å
	7 – 2 =

	O
	8 – 6 =
	#
	9 – 5 =


Jeg kan regne subtraksjon 
 side 2
	A
	23 – 2 =
	P
	68 – 4 =

	B
	45 – 3 =
	Q
	54 - 2 =

	C
	67 – 4 =
	R
	32 – 1 =

	D
	89 – 5 =
	S
	77 – 6 =

	E
	18 - 6 =
	T
	19 – 5 =

	F
	36 – 3 =
	U
	28 – 4 =

	G
	54 – 3 =
	V
	37 – 3 =

	H
	72 – 2 =
	W
	46 – 2 =

	I
	98 – 7 =
	X
	55 - 5 =

	J
	38 – 8 =
	Y
	64 – 3 =

	K
	27 – 4 =
	Z
	73 – 2 =

	L
	43 - 2 =
	Æ
	82 – 2 =

	M
	85 – 4 =
	Ø
	91 – 1 =

	N
	16 – 5 =
	Å
	79 – 7 =

	O
	99 – 8 =
	#
	48 – 6 =


Jeg kan regne subtraksjon 
 side 3
	A
	30 – 20 =
	P
	35 – 24 =

	B
	40 – 30 =
	Q
	77 – 55 =

	C
	50 – 40 =
	R
	59 – 45 =

	D
	60 – 10 =
	S
	65 – 43 =

	E
	70 – 40 =
	T
	48 – 15 =

	F
	80 – 30 =
	U
	95 – 35 =

	G
	90 – 60 =
	V
	87 – 65 =

	H
	80 – 70 =
	W
	48 – 23 =

	I
	70 – 50 =
	X
	88 – 35 =

	J
	60 – 40 =
	Y
	98 – 58 =

	K
	50 – 30 =
	Z
	47 – 34 =

	L
	40 – 20 =
	Æ
	64 – 32 =

	M
	30 – 10 =
	Ø
	58 – 45 =

	N
	20 – 10 =
	Å
	75 – 32 =

	O
	70 – 30 =
	#
	37 – 35 =



